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' 2-1 0O—JHE

A HEHT

i B B o WMEE&E
L-50X50X5 36. 750 3.7 X 5 = 680 kg
N3} 680 kg
B. 1 #7

P WAL R o ESEE
L-130X130X5 3.000 10.1 X 14 = 424 kg
L-130X130X5 3. 500 10.1 X 9 = 318 kg
/INEE 742 kg
C. Tiatg

i B B o WMEE&E
L-50X50X5 3.117 3.7 X 2 = 23 kg
L-50X50X5 3.143 3.7 X 20 = 233 kg
N3} 256 kg
D.B 47 £

P WAL R o ESEE
L-75X75X5 36. 750 5.8 X 4 = 853 kg
/INEE 853 kg

i B B o WMEE&E
L-50X50X5 1. 540 3.7 X 2 = 11 kg
L-50X50X5 0. 750 3.7 X 4 = 11 kg
L-50X50X5 1. 650 3.7 X 20 = 122 kg
N3} 144 kg

5 WAL R o ESEE
L-50X50X5 0. 830 3.7 X 46 = 141 kg
/INEE 141 kg
G EMESANM

i B B o WMEE&E
L-50X50X5 1.100 3.7 X 18 = 73 kg
INGT 73 kg
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R B B o WEEE
L-50X50X5 36.750 X 3.7 X 2 = 272 kg
/NEE 272 kg
LAty bFL—+
B2 (k570 @ P B

B A TN .5 X 12 = 18 kg
XA 7B 1.6 X 4 = 6 kg
XA 7C 2.7 X 22 = 59 kg
XA 7D 2.6 X 20 = 52 kg
XA TE 0.6 X 38 = 23 kg
/NEE 158 kg
JHSEE

B = 3,319 kg

= 3.3 t
2-2 o—Jg&
A4 v—n—7F
i B B o WEEE

F5% (¢ 31. 5mm) 56.000 X 4.0 X 4 = 896 kg
AR (¢ 31. 5mm)  36.000 X 4.0 X 2 = 288 kg
Y 5% (¢ 10mm) 30.800 X 0.4 X 2 = 25 kg
/NEE 1209 kg
B 4=

Bt = 1,209 kg

1.2t



2-3 g

A KR
. WA s W PR B (kg /m3) HENEE
£=30mm 36.750 X 2.390 X 0.030 X 800 = 2108 kg
INE 2108 kg
s W B W WMEE=
60X60 36.750 X 2.9 X 5 = 533 kg
JNE 533 kg
C B &=
G = 2,641 kg
= 2.6 t
2-4 avo9y—+rEE
A R A EE
5 b e B (RACET B (ke /n3) HENEE
LR 3.450 X 0.400 X 0.400 X 2500 = 1380 kg
G YERR-1 -0.300 X 0.400 X 0.100 X 2500 = -30 kg
G YEbR-2 -2.050 X 0.400 X 0.100 X 2500 = -205 kg
FEE 1/6 X ( 0.550 X 0.400 + 0.400 X 0.600
+2.000 X ( 0.400 X 0.400 + 0.550 X 0.600 ))
X 4,100 X 2500 X 2 = 4920 kg
N3} 6065 kg
B. § IE3
5 i i W PR B (ke /m3) HENEE
LR 3.450 X 0.400 X 0.400 X 2500 = 1380 kg
G YERR-1 -0.300 X 0.400 X 0.100 X 2500 = -30 kg
G YEbR-2 -2.050 X 0.400 X 0.100 X 2500 = -205 kg
FEE 1/6 X ( 0.550 X 0.400 + 0.400 X 0.600
+2.000 X ( 0.400 X 0.400 + 0.550 X 0.600 ))
X 4,100 X 2500 X 2 = 4920 kg
N3} 6065 kg
G = HEHEHE ke

= 12.1 t
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A= 2.490 X 36.750
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D. RE&EiZ
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A= ( 4500 + 529 )X
T HEBRMES
A= ( 4150 +  2.360 )X
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